‘i‘]‘ [E N

:g‘,;f}l“_ﬁ T AW

Fir2 112 &7 2 2R T2 A& R PRIES

SIS S | il R
B % t112# 11 % 30 p FEiAIRE R ALAR
2T ey
B\ kERRYE = OE OB % w | R AP F R % =
£ fE|p Hp
10 |2 92 (s
7HE R + » 1000 ~ 2. | .
{3 T Ak 4 7 qq [Hive AREEE 10
hes 22 1000 ~ '
3T () 119
WK 23 e IR EE: 74,000 ~ . Bde 5 RJRIFTE (3
i 8. 30
BE(E 250 JTFEE 296 E=74000 71
10 |2 92 (o 10
AN N 16000 = |11z | .
EH AR 10. 30 e 5 RIRIEPE
16000 =~ ‘
3T () 3
vORE A T S7 600 % 112, |[pEmisd o 5 i
- 3F 32 < %1800 %= ’ 10.30 |2 3 RYR
57600 =~ 7T
13 |27 (S 13
B i i 22 o005 |12 [ERER e
[ - i TH x40 i 10.30 |2 s RV R i
=3000 =~
2 PR (5 13
/1 ,L E] l’b . = ‘:—-_, ) 3
2250 11 » 30
it TR L E IRy
*40 (>=2250 ~
10 |2 752 (U5 S N Y 10
(1>LED % Sk ig ]% ﬁi',,f* Lo 4y
3200 ~ 5 7 % A
% = BB 1 4 A I
(2)#% a’ppl ] 6618 7= 112/12/ prata: Iy
%3500 ~=3500 =~ 31 E R
@2k 6700 ~ R %R
7 4 6618 ~ NP 5 BN
E RN

it LMEER TR > BRIEREE TR AEPERE ST -

2. B [EJH FREE R AN BEFTE ~ A B B A R Ak -

A




it | LINVFER TR > B RIEREEEIZSIHBPERE A HE -
2 BRFERFASHEMARITE ~ BN B A4S -



